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SREN SEEHR OC
BARXER (3FEBR) 15 12 3
hEXZEH (SEEE) 5 4 1
hEXER (4R BE) 0 1 -1
FRXER (3RIER) 14 7 7
EARAXER(ARBE) 1 0 1
BEZE(SEER) 13 9 4
BEFZREGREER) 7 3 4
EEFH (FBER) 2 2 0
FERXIEZH (3F B E) 16 11 5
#HE=BFFEHORER) 79 67 12
HARBFEFEHORER) 73 56 17
PEZEFER(CEAR) 4 3 1
PEZEZR(SERBR) 1 -1
PEZEFRGRBR) 1 -1
RBEFHOEBR) 20 18 2
AAREFH (BRER) 2 2
EEERECEER) 69 26 43
BEREOEER) 101 64 37
ERREFRER (SRB ) 19 14 5
ERXEER (SR EE) 8 10 -2
BREZE(SEER) 37 22 15
BREFHGEER) 7 4 3
AR—YFZR (BRBER) 15 12 3
AR—YHZER (4R BR) 5 6 -1
EBREZRECEAE) 10 8 2
EBREZRE(GHEBAR) 7 -1
FEFH(2EER) 5 0
EFEFH(EER) 3 2
#HEZER(SEER) 18 22 -4
#HeFHGRER) 2 4 -2
aEt 558 404 154
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